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1. Which of the following events will lead to a leftward shift of the étggregate demand
curve?

(A) The productivity of workers rises.

(B) A stock market boom increases the wealth held by households.
(C) Greater union activity results in higher nominal wages.

(D) The government raises taxes on households.

2. Which of the following is included in the Gross Domestic Product (GDP)?
| (A) Intermediate goods and services

| (B) New construction of structure

~ (C) Spending on imports goods

(D) Investment in financial assets

3. The natural unemployment is the sum of:
(A) Frictional unemployment and cyclical unemployment
(B) Structural unemployment and cyclical unemployment
(C) Frictional unemployment and structural unemployment

(D) Frictional unemployment, structural unemployment and cyclical unemployment

4. Which of the following events will cause the stagflation?
(A) The price of oil increases.
(B) The government reduces military spending.
(C) The central bank increases money supply.

(D) A country’s currency rises in value relative to other currencies.

5. If the nominal interest rate is 3% a year, inflation rate is 5% a year and economic
growth rate is 6% a year. The real interest rate (a year) is:
(A)-3% (B)-2% (C)8% (D)%

6. Which of the following statements about price ceilings is true?
(A) A price ceiling makes all producers worse off.
(B) A price ceiling makes all consumers better off.

(C) A price ceiling causes excess supply.

ALy
(D) Minimum wage is an example of price ceilings. Sy
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The following table (Table 1) shows the price and monthly quantity demanded of

Coke in the city according to the average income of the residents and the price of
Pepsi. Use this information to answer question 7, 8, 9.

Table 1
Price Quantity of Coke demanded Quantity of Coke demanded Quantity of Coke demanded
of when average income is when average income is when average income is
C<;ke $15,000 and price of Pepsi is | $25,000 and price of Pepsi is $15,000 and price of Pepsi is
$35 $35 $25
1 5 550 650 450
25 450 550 350
35 350 450 250
45 250 350 150
| 55 150 250 50

7. Suppose the average income is $25,000 and price of Pepsi is $35. Using the
midpoint method, the price elasticity of demand for Coke when the price of Coke
rises from $25 to $35 is:

(A)0.33 (B)0.6 (©)1.0 (D)1.67

8. According to Table 1, Coke and Pepsi are concluded to be:
(A) complements in consumption because cross elasticity of demand is positive.
(B) complements in consumption because cross elasticity of demand is negative.
(C) substitutes in consumption because cross elasticity of demand is positive.

(D) substitutes in consumption because cross elasticity of demand is negative.

9. According to Table 1, what will happen when average income falls?
(A) The demand curve for Coke will shift to the right because income elasticity of
Coke is positive.
(B) The demand curve for Coke will shift to the right because income elasticity of
Coke is negative.
(C) The demand curve for Coke will shift to the left because it is a normal good.
(D) The demand curve for Coke will shift to the left because it is an inferior good.
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10. Country A and Country B produce only two goods: fish and potatoes. Country A
each month can produce either 100 pounds of fish and no potatoes, or 500 pounds of
potatoes and no fish. Country B each month can produce either 200 pounds of fish
and no potatoes, or 600 pounds of potatoes and no fish. Which of the following
statements is true?

(A) Country A has an absolute advantage in producing fish.

(B) Country A has an absolute advantage in producing potatoes.
(C) Country B has a comparative advantage in producing fish.

(D) Country B has a comparative advantage in producing potatoes.
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Price (per bottle) Quantity demanded (bottle)
$50 0
40 100
30 200
20 300
10 400
0 500

| (A)#5 Elixir Spring BB -ETEB MR (single-price monopolist) » BIFEREA
| (L TREREETE A ERE RZ V7 RS MR R B ARG S B
7 (857)
(B) #5 Elixir Spring IREGE 2= AETE (perfect price discrimination) » BIF BERRK
(L FRERE N EB R HE D ? B MBI A Rigr S B %0 2 (6 53)
© e S S K AR B S Ry 100 (RS > R 5E B PIESE - (EEiES
R A EE N W G A TEE RS S AR AEE R $30 - EFIEEmAILT
s R s e o e e K IR G BB R BV 7 R E R AR
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(D) EEEE (A) ~ (B) ~ (O) =R auEIER o R EEBHER (deadweight
loss) ? BEEH %V 7 (3 57)

2. [BEABERANT

Mg (C)  C=100+0.75Y, YRS ESERN (V) Y=Y-T

Wil (T)  T=40+02Y stENRE () 1,=200

B (G)  G=130

(A) 3555 H L AT 2t AR AT R B Ak SRS © (5 57)
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(C) L EH AN 300 » HLEHSHEATRRZ D 7 HYIRET (Keynes) 45 43
B 1 e 200 Ry 300 B i pT IS EEE) - (10 97)

(D) FHHGEB AT HARBRBS D ? EARIR TR RSV 7 (6 57)

(E) i &Ry 1 200 o 2, 03 b SR RE RS HU Ry 800 » FATHIBLIN
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